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| 33140000 Rdolwltpwlulnig
33141140 [PElwngkh dunyuykh Q20 huin 48000 7 336,0
33141100 t U Sdugun(Ea QU hwin 1000 40 40,0
145*30uu
33141000 Q20 hun 430 70 30,1
E. U.Qdwwyu]kh 63 30ud
33141113|Unyhpinpdolwulymt 96%  [G20 {hap 1300 70] 91ﬁ
33141100 ghmn]_nqhuﬂ]ulh Q20 hunn 450 300 135,0
Uniuy
33141114 szlluﬂiulhpmh Iaulhqbfl‘) Q20 huun 650 11
S5uU
33141142 hhpmpl{h}_muhqnq&ll G20 hwwn b5 250
33141128 Plunihtiught tkpuplhs |920 huun 25 200
33141144 U‘uth,&[d, 0,7 Uu Q.20 hwn 8 3500
33141143 ullmp]ﬁbhlimmnp 27408 huun 5 6000
33141159 Rhnting pdolwljuly ny |20 qnuq 30 11000
unbphy
33141160Junlingly 250:f; R0 huin 300 75 22,5
33141174 gbplhu}_u.uh Uhl}}ﬂlm]hh SY408 hun 300 20 6,0
33141100 qunimubnphunphg Q1 hun 90 1 000 90,0] i




33141115| pundpwly ny unntiphy 100q 42U qpund 3 23000 69,0
33141115| phiful Uhwinjwg ntightk (20 hun 15 800 12,0
Yuyhytibpny
33141129 Culmmh]_ thujunju G20 hwwn 6 2000 12,0
33141111] (aqnaguaunp Yunphg |20 hun 150 125 18,8
2,5ud
33141100|0wjpuluy nknht Q2 hutn 5 3 500 175
33141100 Lytunnpd hnpdwbnpe QU huwn 10 250 2,5
33141100 Q20 380 39,9
Unwpluyulut wuyywlh wintth 105
33141133|Upwljnntiphipinp Q20 huwp 15 700 10,5
33144210 hipwuwthnu G20 Unnp 5000 2. 10,0
33141133|phtwn 7°14ud Q20 hunn 140 800 112,0
33141210 thnpdwlinplihony G2, hwuwn 100 600 60,0
331412710[\(pnpdwnputip Q20 50 25,0
unkphy. Zudwp
= nnupuljiting hwwn 500
33141210 Quwuynywn sujpuljuy (420 hwun 10 2000 20,0
33141210} Unt uyjhytwn Q.U hwwn 200 20 4.0
33141210| Gneyndtinnph uinphuyy {420 hwwn 120 2500 300,0
33141133 G2U 10000 120,0
HUSCUAEe = LU 1hwnp 12
33141210[Upwlug oqun. gh. 42U 110 55,0}
huytih hwwn 500 ;
83141210 g]unnppul‘uz Q.20 hwwn 50 200 10,0
plnudkup 2052,7
33210000f Lwpnpuwnnplynipk
n
33211210! C-ptwlyunhy uwhuwynigh {20 pliun 100 300 30,0
npn2dwl phup-hwywpwént
33211240 tlnlwwnnpn dwlpinnp |20 pliun 60 200 12,0
33211280 Pomglijng Q2 pliuwn 250 50 12,5
33211230{RPR Ullf'pbﬂlu Q20 pliun 40 800 32,0
33211133|HBsAg Q20 pliun 180 300 54.0
33211220|Utwnh D unuytip Q20 pliun 12 200 24
33211120}qynynqu Q20 Uy 13 1 600 20,8
33211160 |ypiwmnhuhl Q20 Uy 17 384 6,5
33211270jGACE Q.2 hutn 10 500 5,0
33211300}Cunhwlnipughnid Q20 hun 100 100 10,0
33211220}A8T G20, pliun 40 96 3,8
332112201ALT G20 ptuwn 40 96 3,8
33211170 hquiymp Q20 pliun 80 200 16,0
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33211330f 2hjhynpwlwnbp whinph (20 hun 1200 20 24,0
uphwitip wpub hwdunp
33211330} 2k hynpwljntp whinphuph [*2U hun 1200 20 24,0
Ytnunh hwdwn
33211190 Nthwqkun huju U G20, pliun 20 200 4,0
33211200|twgktn hwlw £ Q20 phuwn 20 200 4,0
33211220 kwqkin hwlu R Q20U plun 30 100 3,0
33211220 thwgkun hwlju Q20 phun 20 200 4,0
33211190 twqkn hwljw 8 QU phiun 60 100 6,0
33211380} Uqnip tnghlt Q.20 thwp 6000 i 6,0
33211380 yughnud G2U, phiun 40 100 4,0
33211380{Unydnuuithghjughli ppoe {20 g 6000 @5 3,0
punudbkup 290,9
33600000 |YEquntiwght ninnpw)p 50-
30%
33621450 wujnnhujhl G2U nlinuthun 15 7 500 192.5
(wunnhuthuhptiqhuwn)sdg
33661156{@huning G20 upyuy 455 64 29,1
X (p]nInLanLIulLEulm)O.S%SLIL
33611100 2l ntnuthuin 15 1700 25:5
Oubupuigqn] 20Uq
33621720 Phunupning Q20 nlinuthuwn 60 5 800 348,0
(phunupninih 10Ug
33621690} qunpytnhng 25 Uq Q20U nlinuhuwn 75 2 200 165,0
33621620{Uyhpnunjuljunnt 25Uq Q20 nlinuhwwn 55 1 360 74,8
33621140 yinyhnngpty G20 nlinuhuwwn 89 1780 158,4
33621620 Q210 ntnwhwwn 720 46,8
Uwhpninjujuint 50Uq 65
33660000 Juwypnwppnt Q20 ntnwhwwn e 150 21,0
33621321 Wil 40010 Q2U nbnwhuwwn 20 1020 20,4
33621321 Mt 80D i G20 nGnwhwwn 60 460 27,6
33691140 Ugtinhjghuntht Q20U nlinuthunn 100 60 6,0
33651224 Ultipnuiplpuunn 51Ug G nlinuhun 130 360 46,8
336071131 Lnpuwwnwght G2U upduy 1000 20 20,0
33621520 Eawquuphy 10uUq Q20U nlinuhwn 10 1200 12,0
33621520 Ehwjuwphy 20ug Q2U, ntquhun 45 400 18,0
33621623|hnudhl + Q21 nlinwhun 110 1 000 110,0
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33621190 whlnwhhnpuin) 4000
ghypndiopumghtt G20 upduy 36 21,6
(ghwypndoputughtthhhnp
33671118 npLr 600 ;
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33661156} @hunny Q.21 upyuy 450 170 76,5
33611100 Oubujpugqny 20uq Q2U nGnwhwwn iz 7 000 98,0
: 33621720} fhunupnny Suq Q20 nGnwhwn 12 18 000 216,0
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33631140] Twpughnunnndp{utp G 1T hwn 50
50uq
33631140] Twpughnunnpndh{ukp Qs Awn 70
100Uq
33611420} 4w ghnulhgyniyniwn Q20 ntnwhwin 7 350 2.5
33651133Juny Swuwught 500 Ug S¥40 nGnwhwn 67 480 32:2
33631290f hpniujpndll 200uUq Q21 ntnwhwwn 8 600 4,8
33651224] Ukpnwinphputwn 2,5 g Q20 ntinwhwn 45 680 30,6
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22820000{Utqh whwhg Uu hwwn 5 2000 10,0
22820000 Uwtjuljuii puipin Ul hun 350 100 35,0
22820000{uygtnh ghpp Uu huwwn 2100 9 18,9
nhinunndu Uu
22820000} unynpuljuil hun 5 16500 82,5
nhnunnuu U
22820000 hiptiuiyguinktiny hwn 25 3000 75,0
22820000{ghpp pupwintin 100p. UL hwuwn 1500 3 15
22820000{ghpp pupun tin 100p. jUU hwuwn 2000 5 10,0
22820000{qhpp hng. 100 ptppe Uu hwwn 1500 1 1,5
qhpp ung. pwpwn 100 U
22820000|plipp hwwn 1500 1 £S5
dGol tpkjuuwgh owp.  jun
22820000f{huly. pupwn huwuwn 6 2500 15:0
22820000{ghpp udnony Uu hwwn 2000 2 4.0
22820000jwdpnijwinnp puin Uu hwin 250 1200 300,0
hnph b stinjuth Ul
22820000 hul,lnqnqa]m'u puipn hwwn 5 1000 5,0
22820000jghpp winiony 200 p.  JUU hwwn 2000 2 4,0
' 22820000{qhpp y&. swun. 200p. Ul hunn 2000 1 2.0
‘ 22820000{ghpp hwoyundul Ul hun 1500 il 1.5
.; ' qhpp wdpnijunnn Ul
% 22820000|pwipnh b 2000 1 2,0
22820000{pd>lh opwighp Uu hunn 5 700 2
_ 22820000(winyut Jupulyhy Uu hwuwn 1500 1 10
{ , 22820000jubn. htn. Ul hwwn 5 150 0,5
:’ 22810000| Y . pwp Uy hun 5 1000 5,0
22810000|j . jwp. U hwtn S 3800 19,0|
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22810000|ghpp pdoYy hpkp 100p. UL huwn 1500 2
22820000|puntljh hkwwgnun U huwn . 1000
22820000 pupjuljul jup &b 9 U hwwn 5 180
huntbwpwbwub jwp v
22820000}4L 1 hwuwn 5 150
puntbwputut jup oo
22820000t hwidbk]us hunn 5 250
U
2282000011 hupljuljut jup dl 10 hwwn 20
22820000y huhjulyut pup a7 jUu hwwn 500
JEuwphthwljub jup v
22820000f{al 7 hwwn 5 1200 6,0
ihtupjufut pup Ul
22820000fhwuy b Jws 1 huwwn 5 1200 6,0
Upniiupuitiutjuty Uu
22820000{jwp. 2L 9 hwwn 5 3500 175
22820000y Euwphd. quip. &L 8 Ul hwwn 5 2000 10,0
22820000 qquﬁqﬂlbhum UU huwn 5 156 0,8
22820000{ghpp RUDZ Ul hwuwn 1500 2 3.0
22820000{ghpp wEnuyuwndkph  jUU huin 2000 1 2,0
22820000t uinndu hng. Ut hwwn 5 500 2;5
22820000 OOOQ(&U U hwwn 10 13000 130,0
22820000{ninkghp qup-qnpd Uu huwwn i 5000 85:0
22820000{ghpp nhuinn 400 pk . [UU huwn 4000 1 4,0
22820000{7%. U.O. Gt hun 5 1000 5.0
; 22820000{005 Al : Ul hwwn 10 500 5,0
; 22820000fghpp hwpywniuit 200p. U U huun 2000 1 2,0
( 22820000 ptiqudtlp 899,1
30190000|apkuwlwbyhngputip
‘ 30197622} @ninpU-3 Ul uintth 5000 1 5.0
30197622| PnuypU-4 UU o 2000 50 100,0
§ SkwnpU-4 nown Uu
30192743 uquny hwwn 2200 20 44,0
30192743}k 48p U hwwn 150 20 3,0
; 30192743k 96 Uu huwn 310 10 3
f qpuuttugljuyht ghpp juu
30192700|200p. hun 1400 5 7,0
; qpuubkbuwyjuyht ghpp juu
§ 30192700}70p. huwiwn 400 11 4,4
§ 30199420juonullikp pninp U hwwn 250 30 e
30192128]qnhs qbpy Ul hwn 200 50 10,0
é 30199420 pnpwrnpupul) guibg U huwn 4000 3 120
30192121{gphs unynpwiljut Uu huwwn 80 126 9,6
301921541uhph ppdhy Uu hwwn 470 10 4.7
30197230 prpuujubiuly uUu hwwn 70 25 1,8
30197232 Unpwiquljup U hwn 70 5 0,4
uUu hwwn 200 10 2,0
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/ 30192125[dwinhw ul Ul hun 50 10 0,5
© 30197230fubmluly 51U Uu. hwin 85 50 4,3
30197230futiuiuly 51U Uu huwn 60 40 2 2
30199400 uphs Uu hwn 2150 5 10,8
30197320 llulpbzbumhq Uu wintth 140 10 1.4 ‘
3019213 1| $uy] UU ot 1000 10 10,0 '
30192710[Cwnphlu UU hwin 200 10 2,0
30197112 jwdpuily Uu hwwn 110 5 0,6
30192700junuphtid Uu hwwn 400 40 16,0
30192710{Eunijuhw Uu hwwn 140 5 0,7
wotwnwduluinuhhju o
30196100jwouinly hwwn 20 30 0,6
30194700jmidbwljule phipphly Ul hwwn 20 10 0,2
npudwplnh Eph Ul
30194700fopntip "~ fhwwn 5 50 0,3
30192300{pwliup Uu hwwn 900 2 1,8 i
prpwyubwly Uu
30492710 wpugujup gyuunhlyy hwwn 300 30 9,0
30192700thwohs Ul hwwn 2000 i 2,0 g
30197230|yndquud Ul hwwn 120 2 B2
3019213 1}pwitsil Ul hwn 250 1 0,1
30192770 Uljpun Ul hunn 670 7 i
30197230{Eowlihy Ul hwn 5 250 13
30197230{ynhs 16 qp Uu hwwn 4100 1 4,1
3019213 1uljns prejw [yl UU hwwn 15 640 9,6
dpuip (B0,
30192131 1,mupph]1>_ulL]mhph hwwn 200 50 SN
30197230jqkpp g uu hwwn 30000 1 30,0
30192770 Ll‘uhp]l uwnp Uy hwwn 5000 1 5,0 i
prpuuubwly U '
30192131y tipny 60 D hwin 670 7 4,7 i
prpuuubuly nown UU
30192131 {ulny huwn 750 e e
, prpuuuiiuly Ul
30192131 duytipny] 60 $ hwwn 530 10 53
30192770{pk)e Uu hwwn 100 50 5.0
30192131|Upwquljup ypuunpl UG hwwn 350 25 8,8
30192730} ugsnih Juqu U hwwn 100 9 0,9
plnunlkln , 369,4
- |Zpdbwlut Yhong
39111167{Upnn oAl hwwn 88250 4 3530
hudwljupgsh Ul
39111165juntintwoup hwwn 4500 2 9.0 ’
397112 10]qpuukbyuljuht Uu
winpudut hun 1600 3 5
39111165 hwdwljupgsh Uljuhly Ul huwn 3500 2 7.0
Uwnbwpwhb UU hwwn j 67000 1 67.0
39111167|Dwpnw glipp U hun : 30000 i 30.0




39111168juljuitht wywpwwn Ul huwn 50000 1 50,0
39515400 oEpnnuyuipugnyp Uu hwuwn 6000 6 36,0
wpjuwtnuipwihll UU
39111160fukquly hwwn 105000 105,0
39111165fhwdwljuipghs 01108 hwwn 265000 265,0
39711210} Jugupub Uu hwn 25000 25,0
plnudkun 435,8
Stunbuwljuils
wupulipliip
39711210|5npuly Uu hwwn 6000 5 30,0
39711210}k dwpnultbp Uu hwwn 500 30 15,0
39711210 k). wiipuinpsubip Ul huwwn 700 5,6
39514500fsnpuiljh LGuwjunnnyuy jUL hwwn 1500 75
39531800{uUntwph gnpqhly Uu huwn 3800 152
39831270jdknlinglkp Uu qnuq 308 26 8,0
{ 39831246|k. pudykp U hwwn 100 50 5.0
39514500fupphstibp U hwwn 400 20 8,0
39831246 [nuwnnibbp Uu hwwn 2900 14 40,6
39831246{nn1) N Uu hwwn 3600 16 57,6
; 39711210} wnpuduily Uu hwwn 1600 3 4,8
39711210{pntuwlbkp U hwwn 3000 30 90,0
: 33760000{2niqupulih pounpe Ul hwiwn 120 250 30,0
% plipudkun 3173
AR
plpwghly inpnquut
;. 45000000 wojuwnuiplikp huwwn 950000 1 950,0
Ouwrnnipiniiinbip - 6570,0
! qiuqtmhumul"Llu,ipmpm, Ul
72410000 hwn 2800000 1 2800,0
: 72410000 thqmpmthbpqluu Ul hwwn 2240000 1 2240,0
71800000 {pputlinuljupupnud jUG huwn 415000 1 415,0
79511100|9wuyh swnuinipnth UG hwn ; 529000 1 5790
{ 90510000} winpwhulimipnih Uu hwwn : 132000 ]E 32,0
90500000f Adoljurljuti punhntikp (U hwwn 104000 1
!
’s 104,0
‘ guhguihidwnijuhwigy (UU
‘ wgnu, untinwd,
;; guiguihtiuwwuppuw Ynpoud
\ 79515400|ukphuntnunpnud hwwn 350000 1 350,0
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